2019-01-18 ITE Problema 3

Datos generales
Tex = 10 [°C]
T = 20 [C]
Apiera = 1.8 [mz]
c = 567x107° [W/m*K|
Datos ventanas
Quengt = 120 [W]
Nventanas = 14
Aventanas = 2,25 [m?]
Atventanas = Nventanas ° Aventanas
Kvigio = 0,9 [W/m-K]
Kare = 0,025 [W/m-K]

T3 15,8 [°C]

T, = 11,65 [°C]
€yidriosimple = 0,004 [m]
vidrioint = 0,004 [m]
vidioex = 0,006 [m]
€are = 0,012 [m]

Cventanas = 250 [€/ud]

CT;vent = Nyentanas * Cventanas
er =09
g3 = 0,1
g4 = 09

Datos fachada

€ hormigon = 0,2 [m]
I(hormigon = 08 [W/m . K]
€hormigon = 0,9

Tee = 11 [°C]
esate = 0,06 [m]

Ksate = 0,03 [W/m-K]
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Csae = 10 [€/m?]
Atachada = AtoT — ATyentanas — Apuerta
Aror = 10 -6 - 4

APARTADO 1

hew = 25 [W/m?K]

é‘fachﬂ = hgy - (Tse = Text ) + E€hormigon * O * ((Tse + 273 )4 - (Text + 273 )4)

afach;z = (1 - 0:75 ) c.]fachﬂ
APARTADO 2
évent;z = érad;2 + écond;2
. (T +273)" = (T, + 273)*
Qragz = Aventanas *© O °
1 1
—— =1
€3 €4
. Ts - T
Qcond;2 = I(aire ' Aventanas ' [M]
€aire
APARTADO 3
. T, - T
Qvent;2 = I(vidrio ' Aventanas ' [4]
€ vidriosint

Ovent;2 = hint . Aventanas ) (Tint - T1 )
APARTADO 4
N caldera =09

cen = 0,06 [E/KWh]

Caélculos ventanas

. . 8760
Aquent = (Qvenm - Qvent;2 ) Nventanas  * W
c
AhOl‘I’Ovem = AQ;vent N
N caldera
Cr.
Retorno en ——Twent
AhOrroyent
Célculos fachada
. . 8760
Aqfach = (qfach;1 — Qfach2 ) Afachada ' W
(¢}
AhOrrosen = Aqifach Sl
N caldera
Afachada

Retorno,e, = Csate -
AhOITOacn



SOLUTION

Ahorrofach = 2684 [€/afo]
Atachada = 206,7 [m?]

Aot =240 [m?]

Aventanas = 2,25 [m?]
csaTE =10 [€/m?]
Cventanas = 250 [€/ud]
Aavent = 11726 [kWh/afo]
e3=0,1 []

€hormigon = 0,9 [-]

€aire = 0,012 [m]

esate = 0,06 [m]

€vidrio,int = 0,004 [m]

hext =25 [W/m2-K]

kaire = 0,025 [W/m-K]
ksate = 0,03 [W/m-K]
Nventanas = 14 [-]

Qfach,1 = 29,65 [W/m?]
Qrad2 = 4,937 [W]

Quent2 = 24,39 [W]
Retornovent = 4,477 [afios]
T1 = 15,85 [°C]

T4 =11,65[°C]

Tint = 20 [°C]

Ahorrovent = 781,7 [€/afo]
Apuerta = 1,8 [m2]
ATventanas = 31,5 [m2]
caN = 0,06 [€/kWh]
Crvent = 3500 [€]

AQfach = 40267 [kKWh/afo]
€1 =09 []

€4 =09 []

Ncaldera = 0,9 [-]

€hormigon = 0,2 [m]
evidrioext = 0,006 [m]
€vidrio,simple = 0,004 [m]

hint = 2,611 [W/(m? K)]
Khormigon = 0,8 [W/m-K]
kvidrio = 0,9 [W/m-K]
Qeond.2 = 19,45 [W]
Qfach2 = 7,413 [W/m?]
Quentt = 120 [W]
Retornofach = 0,77 [afos]
o =5,670E-08 [W/m2-K*]
Ts =15,8 [°C]

Text =10 [°C]

Tse = 11 [°C]



